
N = 271

271 circles in a 1x0.30000 rectangle

radius =   0.017329092345
ratio  =  17.311928058710

density  = 0.852215719959
contacts = 713
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05-AUG-2010

N = 272

272 circles in a 1x0.30000 rectangle

radius =   0.017316458379
ratio  =  17.324558719449

density  = 0.854113662143
contacts = 733

 E.SPECHT
05-AUG-2010

N = 273

273 circles in a 1x0.30000 rectangle

radius =   0.017291132337
ratio  =  17.349933720839

density  = 0.854748080788
contacts = 437

 E.SPECHT
05-AUG-2010

N = 274

274 circles in a 1x0.30000 rectangle

radius =   0.017277038661
ratio  =  17.364086860133

density  = 0.856481114090
contacts = 493
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05-AUG-2010

N = 275

275 circles in a 1x0.30000 rectangle

radius =   0.017276609880
ratio  =  17.364517812553

density  = 0.859564290668
contacts = 763

 E.SPECHT
06-AUG-2010

N = 276

276 circles in a 1x0.30000 rectangle

radius =   0.017226711453
ratio  =  17.414815405275

density  = 0.857713920766
contacts = 738

 E.SPECHT
06-AUG-2010

N = 277

277 circles in a 1x0.30000 rectangle

radius =   0.017213963674
ratio  =  17.427711924705

density  = 0.859548034102
contacts = 741

 E.SPECHT
06-AUG-2010

N = 278

278 circles in a 1x0.30000 rectangle

radius =   0.017190780220
ratio  =  17.451214904751

density  = 0.860329054561
contacts = 609

 E.SPECHT
06-AUG-2010

N = 279

279 circles in a 1x0.30000 rectangle

radius =   0.017184637968
ratio  =  17.457452438685

density  = 0.862806872363
contacts = 381

 E.SPECHT
06-AUG-2010

N = 280

280 circles in a 1x0.30000 rectangle

radius =   0.017172160025
ratio  =  17.470137685499

density  = 0.864642349754
contacts = 561

 E.SPECHT
06-AUG-2010


